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QUESTION 1

Which of the following would NOT NORMALLY be considered for a testing role on a project?
A. System operator

B. Developer

C. Configuration manager

D. Performance specialist

Correct Answer: C

QUESTION 2

Which of the following are white-box test design techniques?

a) Decision table testing. b) Decision coverage. c) Boundary value analysis. d) Error guessing. e) Statement testing.
A.aande

B.bandd

C.bande

D.eandd

Correct Answer: C

QUESTION 3

Which of the following is MOST clearly a characteristic of structure based (white-box) techniques?
A. Test cases are independent of each other

B. Test cases can be easily automated

C. Test cases are derived systematically from the delivered code

D. Test cases are derived systematically from specifications

Correct Answer: C

QUESTION 4

Which of the following is LEAST likely to be included in an incident report?
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A. Suggestions for correcting the problem

B. Degree of impact on stakeholder interests.

C. Date the incident was discovered.

D. Life cycle process in which the incident was discovered

Correct Answer: A

QUESTION 5

Why should expected results be defined before execution?
A. To assist in test automation

B. To improve test efficiency

C. To reduce the possibility of incorrect results

D. To improve design of the software

Correct Answer: C
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